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1. A basketball ranking poll is trying to rank the top teams in the nation. The leading contenders are:
Villanova (V), Illinois (1), UConn (C), or Duke (D). The preference ballots are organized in the

following preference schedule. [ yuuser OF VOTERS |13 11 4 11 7
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a). How many votes were cast? Lj (0
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d). Find the winner by the 4-3-2-1 Borda Count Method.
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e). Find the winner by the runoff method. Vv \arnode VT C D
f). Find the winner by the sequential runoff method. IWno //’7 ‘/IlﬁL N
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g). Find the winner by the Condorcet method. L \WinoS — cly ¥ x D
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2. Suppose that this election is conducted by the approval method instead and that each voter approves

of the choices marked on the chart below.

VOTERS|A B € D E G H 1 ] K
Villanova X X X X
Illinois X X X X X X
U Conn X X X X
Duke X X X X X X X X

a) Determine the approval winner. Ou\\ﬁe

b) Ifany team with 50% or more of the votes can be selected and they will have a run off, which

teams would be in this run-off? IR 1 \‘;\ 10
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3. How many possible preference schedules are there if there are 7 choices to choose
from in an election? [ =]
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4, Name and describe each of Arrow’s Conditions. -
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5. Consider the weighted voting situation in which voters A, B, C, & D have 11, 8, 6, votes, MQ™ (ﬁ.
respectively, and 14 votes are needed to pass an issue. %hb\l d be
EpRatable)

a) Is the coalition formed by A and C a winning c:oa]ition'.?;_‘l_@S
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b) Which players are essential in the coalition {A, B, C, D; 27}?_ WO _ '
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c¢) Listall the winning coalitions (USE CORRECT NOTATION - see question above).
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d) Find the Power index for each voter.
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e) Are there any voters who are dummies or dictators? Explain.
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f) Do the power indices reflect the distribution of the votes? Explain. ) innw o liHan
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